Recursion is often used in CS. - fake a problem instance - solve its subproblems -until pung are small enough sorted ex binany search A= < a, a2, ..., and AL AR KJ J AL AR AL AR AR until me get to me base case. Mathematical induction is a proof technique that is analogous to recursion. n(n+1) ex to prove that  $1+2+3+\cdots+n = \frac{n(n+1)}{2}$ , we prove that it works for n=0 (base case), and that if it holds for some n>1, pren it holds for n+1.

Det let P be a predicate concerning ints >. O. To give a proof by mam-1 ematical induction that  $\forall n \in \mathbb{Z}^{200}$ . P(n), we prove 2 trings: 1) Base case: prove P(0). 2) Inductive case: In > 1, prove P(n-1) => P(n) If we do (1) and (2), we've proved that Unt Z<sup>20</sup>: P(n). ung? ex Suppose we have proven P(0) and P(n-1)=> P(n). These establish P(3) proof uts p(3) base case we how P(0) bc p(n-1) => p(n)P(0) = P(1)bc P(O) (modus ponens) P(1) P(1) => P(2)  $b \in P(n-1) = P(n)$ P(2) modus ponens bc P(n-1) =7P(n) P(2)=> P(3) P(3)

claim ¥nz,0, 22<sup>L</sup> = 2<sup>n+1</sup>-1 ie{0,1,...,n}  $i \cdot e \cdot , 2^{\circ} + 2' + 2^{2} + \cdots + 2^{n} = 2^{n} - 1$ ex n LHS PHS 2'-1=2-1=1 2° =1 0  $2^{\circ}+2^{\prime}=1+2=3$   $2^{\circ}-1=4-1=3$ ١ 23-1=8-1=7 2 2°+2'+2'=7 Proof we show by induction prat 4n20 E 2<sup>i</sup> = 2<sup>n+1</sup>-1. i E Zoji,..., N 3 () we define the predicate P(n) to mean that  $\Sigma 2^{i} = 2^{n+1} - 1$ . if 20,1,..., n3  $P(n) = \begin{cases} T & \text{if } \\ 2 \\ F \\ \end{array}$ WTS Vnzo: P(n) we do this by showing 1) P(O) (base case) 2) Hn7/1: P(n-1) = 7 P(n) 3 For the base case, we WTS P(0). i.e., WTS  $\leq 2^{i} = 2^{\circ 1} - 1$ . 16203

consider uner n=0.  $2^{\circ}=1$  and  $2^{\circ}=1=1$ , so P(0) holds. (3) For the inductive case, we need to prove ynzip(n-1)=7P(n). assume P(n-1). WTS P(n). LHS PHS inductive hypognes; S (IH) n-1  $7 \ge 2^{i} = 2^{(n-1)+i} - 1$  (\*)  $\dot{i}=0$   $LHS = \Xi 2^{i} = \begin{bmatrix} n-1 & i \\ \Xi 2 \\ i=0 \end{bmatrix} + 2^{n}$   $\bar{i}=0 \begin{bmatrix} (n-1)+1 \\ i=0 \end{bmatrix} + 2^{n}$ del. A summations  $= \left[ 2^{(n-1)+1} - 1 \right] + 2^{n}$ Subs. w/ (\*)  $= 2^{n} - 1 + 2^{n}$ algebra - 2.2"-1  $= 2^{n+1} - 1 = PHS$ So we have shown P(n). we've shown P(0) and P(n-1) = P(n), so by the principle of mathematical induction, P(n) holds  $\forall n \in \mathbb{Z}^{n0}$ . Q: mat would a direct proof look like? A: (e) X = E.

 $\begin{array}{c} x = 2 \times - \times \\ = 2 \cdot \underbrace{\Xi}_{i=0}^{i} - \underbrace{\Xi}_{i=0}^{i} \\ \underbrace{\Xi}_{i=0}^{i$ algebra L  $= 2(2^{\circ}+2^{+}+2^{\circ}) (2^{\circ}+2^{\prime}+\cdots+2^{\prime})$ = 2·2° + 2·2' + ··· + 2·2" - 2° - 2' - ... - 2 = 2 + 2 + ··· + 2 + 2 + 1 = 2"+1 - 2°  $r = 2^{n+1} - 1$  $z = 2^{n+1} - 1$  $z = 2^{n+1} - 1$ D [=0 Invalid proof:  $\sum_{i=0}^{n} 2^{i} = 2^{n+i}$ E assumed unat we've tyjing to prove!

 $0+1+2+...+n = \frac{n(n+1)}{2}$ И  $\frac{n(n+1)}{2}$ 0+(+2+···+n e¥\_  $\frac{\left(\left(2\right)=1\right)}{2}$ 01(=)۱  $\frac{2(3)}{2} = 3$ 0 + 1 + 2 = 32 5 0+1+2+3+4+5 5(6) = 30 = 15- 15 Proof Ouve define pre predicate P(n) to  $\hat{z}_i = n(n+1).$  $\hat{z}_i = 2$ we prove that  $\forall n \ge 0$ : P(n) using mathematical induction on n. (2) For the base case, consider n=0. Then  $\Xi i = 0$  and O(0+1) = 0, so i=0 ZP(O) holds.

(3) For the inductive case, we prove mat \$n \$1, P(n-1) => P(n). let NZI. Assume P(n-1). WTS P(n).  $E_i = E + n$  algebra = (n-1) ((n-1)+1) +h subs. 2 = (n-1)(n) + nalgebra 2  $= n(n-1) + \frac{2n}{2}$ 2 = n(n-1) + 2n2 = n(n-1+2)2  $= \frac{n(n+1)}{2}$  $\square$ 

Steps to prove a "Inro, \_\_\_\_" statement Using nathematical induction: O clearly state the property P(n) and that you are proving using induction. Be sure to state under variable you are performing induction over. (2) frove p(0) (base care) (3) Prove \n=1, P(n-1) => P(n).